6" Grade (Procedural) Unit 6, Quiz #2 Name k &‘/
Answer completely and show all of your work. s
1. Consider the dot plot to the right. 12 2_ B e
a. What is the range for this set of data? A | ceeo
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c. Which measure of center would be best to use in this situation? Why?
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2. The table to the right shows the distance from the mean data. The mean is 84. Plot the data on the

chart and a dot plot.
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5. Draw a box plot above the dot plot below.
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6. Below is the data of number of games each student has for Kyra’s class. Create a frequency
distribution and a histogram from the data.

a. Frequency table (use increments of 5: 0-5, 6-10, 15-20, ...)

Data | Frequency
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7. Create a box plot for the data below.
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